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Orden de Operaciones (B)

Realice las operaciones en el orden correcto.

6,96 +24,73+97,91+ (—93,51) + (—2,98) — 30,47

. 26,74+58,19— 17,17 — ((—12,69) x 93) + 19,58

. 89,9+ 21,47 + 86,26+ (—23,44) + 44,33 + 49,62

L 62,82+ (—39,19) — (—45,38+77,2) + 65,31 — (—71,18)

.91 x (69,694 (—3,76) — 84,07 — 12,22) + (—74,65)
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Orden de Operaciones (B) Answers

. 6,96+24,73
—2.64

. 26,74+58,1
= 1.267,51

. 89,9+421,47
= 268,14

Realice las operaciones en el orden correcto.

+97,91 4 (—93,51) 4+ (—2,98) — 30,47

9—17,17— ((—12,69) x 93) + 19,58

+86,26+ (—23,44) + 44,33 + 49, 62

62,824 (—39,19) — (—45,38 +77,2) + 65,31 — (—71,18)

— .128,3

.91 x (69,69 + (—3,76) — 84,07 — 12,22) + (—74,65)

— —2.837,41
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